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1 A Philips Electricals of Mumbai dispatched 1000 calculators at Rs. 80 each to 07
Gandhi Electricals Godhra Philips Electricals paid freight Rs. 750, Cartage Rs.
45 and Insurance Rs. 250 Gandhi Electricals received only 900 Calculators 100
Calculators were totally destroyed during transit. Gandhi Electricals incurred the
Following Expenses :

Rs.
Clearing Charges 500
Cartage 100
Insurance 1450
Sales Expenses 600

He sold only 600 Calculators. You are calculate the value of Stock left unsold
and the amount of loss suffered.

1 B Write short notes on (Any Two) 07
1) Commission and Del Credere commission.
2) Pro Forma Invoice
3) Normal and abnormal loss of Consignment account.
OR
1 Jay oil company of Jamnagar consigned 1000 barrels of oil costing 14
Rs. 800 per barrel to Vijay oil Company of Mehsana on January 1, 2015. Jay oil
company paid Rs. 50,000 as freight and insurance 25 barrels were destroyed on
January 7" , in transit. The insurance claims was settled at Rs. 15000 and was paid
directly to consignor.
Vijay oil company took delivery of the consignment on January 19, and
accepted a bill drawn upon them by Jay oil co. for Rs. 5,00,000 for 3 months. On
March 31, Vijay oil company reported as follows:
(1) 750 barrels were sold at Rs. 1200 per barrel
(ii)  The other expenses were:

Rs.
Clearing Charges 11,250
Godown Rent 10,000
Wages 30,000
Printing and Stationery 20,000 ‘
(iii) 25 barrels of oil were lost due to leakage which is considered to be

normal loss.
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@) Vijay Oil Co. is entitled to a commission of 5 % on all the sales effected by
them. Vijay oil company paid the amount due in respect of the consignment on
31% March itself.

Show the consignment Account, The account of Vijay oil Company.

2 Raja Brothers of Ahmedabad has a branch at Baroda. Head office 14
supplies goods to branch at invoice price by adding 33% % profit on cost. The
branch makes both cash and credit sales and remits all cash received to Head
office through bank draft. For petty expenses head office send petty cash to branch.
From the books of head office following details are available in respect of the
branch for the year ended 3 1% March 2016.

Particulars Dt. 1/4/2015 Dt. 31/3/2016
Stock of goods (Invoice Price) 48,000 1,44,000
Debtors 2.40.,000 ?
Petty Cash 2,000 ?
Furniture 1.20,000 ?
Pre paid Insurance 1,600 1,200
Un paid salaries 2,400 3,200
Transactions during the year :- Rs.
Goods sent to branch (Invoice Price) 8,00,000
Goods returned by branch (Invoice Price) 80,000
Furniture sent to branch (Dt.01/1072015) 40,000
Goods returned by Debtors 8,000
Cash received from Debtors (including bad debt return Rs. 4000) 4,04,000
Discount allowed to debtor 2,000
Bad debt 1,200
Cash Sales 1,40,000
Credit Sales | 4,91,200
Petty Cash Sent 6,000
Salaries 30,000
Insurance Premium 36,000
Petty Expenses 4,000

Depreciation on furniture to be provided at 10 % annum.

You are required to prepare : Branch Account, Branch Trading and Profit
and loss Account in the books of Head office.

OR
2 (A)  Write short Notes on : (Any One) 6

1) Independent Branch.
2) Goods in transit and Remittance in transit
3) Branch Adjustment Account.
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(A)

(B)

(A)

(B)  The rupam stores opened a branch in Anand on 1* April 2015. The
goods are supplied to branch at cost. Branch sells goods for cash as well as
on Credit. From the following particular you are required to prepare (1)
Branch Debtors A/c (2) Branch Stock A/c. (3) Branch Petty Cash A/c (4)
Branch expenses A/c. (5) Branch profit and Loss A/c.
Rs. Rs.
Petty Cash (01-04-2015) 300 Bad debts 1,200
Petty Cash (31-03-2016) 200  Stock (01-04-2015) 30,000
Debtors (01-04-2015) 52,400 Stock (31-03-2016) 27,800
Debtors (31-03-2016 66,200 Good Sent to Brach 1,01,600
Petty Cash received from H.O. 500 Goods returned to H.O. 1400
Discount allowed to debtors 5,440 Cash Sales 67000
Goods return by debtors 1,160 Cash received from dedfors 98400
Expenses paid by Head office.
Salary Rs. 12000
Rent and Tax Rs. 3600
Miscellaneous expenses Rs. 2600
Ray & Co. have taken out a fire policy of Rs. 80,000 covering its stock in

trade. A fire occurs on 3 1% March 2015 and stock was destroyed with the
exceptions of Rs, 20680 worth fullowmg particulars are available from the

books of account of the firm.

Rs..
Stock as on Dt. 01/01/2015. Rs. 30,000
Purchases to the date of fire. Rs. 1,30,000
Sales to the date of fire Rs. 90,000
Commission paid to the purchase manager on purchase 2%
Carriage paid on purchase 800
Average gross profit on cost. 50 %

8

7

The policy was subject to average clause. You are required to arrive at the

(i) total loss of stock
(i) Amountof claim to be made against the insurance company.

Write short note on :
Consequential loss policy.

OR
From the following particulars prepare a claim for loss of profit under
the consequential loss policy :-
Date of Fire 30-06-2016
Period of indemnity 6 Month
Sum Insured Rs. 40,000
Turnover for the year ended 30/6/2015 Rs. 2,00,000
Net Profit for the accounting year ending 31/3/2015. Rs. 12,500
Standing charges for the year ended 31-03-2015 Rs. 28,500
Turnover for the year ending (31-03-2015) Rs. 1,98,000
Tumover for the indemnity period From 1/7/2015 to 31/12/2015. Rs. 56,000
Turnover for the period from 1/7/2014 to 31/12/2014. Rs. 1,10,000

The turnover of the year 2015-2016 had shown a tendency of increase of
10 % over the turnover of the preceding year.
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(B)  Write Short notes on : (Any One)
(1)  Average Clause.
(2)  Period of Indemnity.

(&

A Manufacturer of Machinery insured its machinery costing Rs. 1,00,000
for Rs. 80,000. A part of said machinery was destroyed by fire and
value of machinery saved was Rs. 40,000. The policy included an average

clause. Give the journal entries assuming that the insurance company settled

the claim.

The following information is supplied from Aman. Which you are required
to prepare the profit and Loss A/c for the year ended 3 1* December 2015
and Balance Sheet as that date:

01-01-2015
Assets and Liabilities Rs.
Sundry Assets 18,000
Stock 14,000
Cash in hand 8200
Cash in Bank 2200
Debtor ?

Creditors.
Miscellaneous expenses outstanding
details relating to the years translations are :=

31-12-2015
Rs.

20,000
19,000
4800

8000

26000

9800

600

Receipt in the year and discount Credited to Debtors accounts ~ 2,45,000

Goods Returns from debtors

Bad debts

Sales cash and Credit

Goods Returns to Creditors

Payment to creditors, by cheque
Receipts from debtors, deposited to bank
Cash purchases

Salary and wages paid from bank
Miscellaneous expenses paid by cash
Drawing by cash

Purchase of sundry assets by cheque
Cash withdrawn from bank.

Cash sales deposited in bank

Discount allowed by creditors.
OR

6000
1,000
3,00,000
3,000
2,36,200
2,43,000
10,000
18,000
5,000
9,400
2,000
21,000

0

4,000

(A) From following data calculate the bills receivable as on 31/12/2015.

B/R ason 1/1/2015

B/R received during the year

B/R discounted from the bankers
Cash received on account of B/R
B/R dishonored

B/R endorsed in favour of creditors
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(5)

(B)  From the following data calculate the amount of creditors as on 31/12/2015 5

Rs.

Creditors as on 1/1/2015 10,000

Cash paid to creditors 20,000

Purchases (including credit purchase of Rs. 25000) 35,000

Bills payable issued to creditors 5,000

Returns outward 5,000

Discount allowed by creditors 1000
(C) Distinguish between single entry and Double entry system. 5

Q.5 Inthe following sub questions more than one answer are given. You have to
select correct one with necessary calculations. (Any Seven) 14

(1)  Arun of Baroda consigned goods of Rs. 20,000 to Varun of Surat and

. (2)

3)

4)
)

(6)

(7)

@)

pays Rs. 2000 for expenses. Goods worth Rs. 4000 was burntin

transit and insurance company accepted a claim of Rs..3000. The

abnormal loss is..

(i) Rs. 1400 (ii) Rs. 4000 (iii) Rs. 1000 (iv) Nothing
The consignor consined goods worth Rs. 25,000 to the consignee and paid
expenses Rs. 1250. Consignee paid Rs. 250 for freight and Rs. 125 for
octroi. Commission of Rs. 1250 paid on sale of 80 %.What will be the
value of Closing Stock ?

(i) Rs. 5000 (ii) Rs. 5250 (iii) Rs. 5325 (iv) Rs. 5075
Godhra branch has sent Rs. 40,000 to its head office in Ahmedabad on
29/3/2016. Which was received by the H.O. on 4/4/2016. The accounting
year ends on 31* March. This itme will be recorded in the H.O. books as..
(i) Goods in Transit (ii) Cash in Transit

(iii) Contingent Asset (iv) None of them.

Under the stock and Debtors system Branch A/C is treated as..

(i) Personal A/C.  (ii) Nominal A/C. (iii) Real A/C. (iv) Joint A/C.
Following particulars obtained from the books of a firm opening stock

Rs. 10,000, purchases Rs. 80,000, Closing Stock Rs. 30,000, Gross profit
on sales is 25 %. Then the amount of sales is.. ,
(i) Rs. 75000 (ii) Rs. 80000 (iii) Rs. 60000 (iv) Rs.100000
When Bills receivable endorsed to creditors is dishonored, the entry is..

(1) Debtor A/C debited and Creditors A/C credited.

(ii)  Creditors A/C debited and Debtor A/C is credited.

(iii) B/R A/C debited and Creditor A/C is credited.

(iv)  Creditors A/c is debited and B/R A/C is credited.

If the indemnity period is 6 months, standards turnover is Rs. 40,000,
Annual turnover Rs. 100000. Turn over during indemnity period is

Rs. 16000 than short sales is Rs...

(i) Rs. 60000 (ii) Rs. 84000 (iii) Rs. 24000 (iv) Rs. 16000
Fire insurance provides cover of.. :

(i) Intangible Assets (ii)  Business Employees

(iii)  Fictions Assets (iv)  Tangible Assets.
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1 Discuss critically Prof. Robin’s definition of Economics.

OR

Explain in detail, Micro Economics and Macro Economics.

2 Explain the meaning of demand, Explain the law of demand with the help
of diagram.

(A)
(B)

OR
Explain the types of Elasticity of Demand.
Explain the concept of individual demand.

3 Write the meaning of 1SO- quant and explain its characteristics.

OR

Explain the concept of Average cost and Marginal cost and clarify the

interrelationship between them.

4  Explain the Marginal Productivity theory of distribution.

(A)
(B)

OR
Describe the characteristics of perfect competition.
Describe the characteristic of Monopoly.

S Multiple choice question.

(1)

(2)

3)

“4)

Human wants are

(a) Un limited (b) Limited (c¢) Constant

Utility means

(a) Wants satisfying quality in a good. (b) Usefulness (c) Pleasure
Consumers goods satisfy human wants

(a) Directly (b) Indirectly (¢) Constant

A Change in the quantity of a commodity demanded, as a result of a change in
other factors is known as

(a) Extention and contraction in demand
(b) Price elasticity of demand.
(c) Increase and decrease in demand.
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(5)  The formula of income elasticity is

(a) Percentage change in income
Percentage change in demand.

(b) Percentage change in demand.
Percentage change in income.

(c) Percentage change in demand.

Percentage change in Price.
(6) Production function means
(a) Relation between factors and production.
(b) Relation between production and cost.
() Relation between production and income.
(7)  Which of the following is the feature of [ISO-quant curve ?
(a) Negative slope
(b) Parallel to X-axis
(c) Positive slope

(8)  Ifaseller earns total revenue of Rs. 5.000 by selling 500 units of

good X, would be the average revenue.
(a) Rs.100 (b) Rs.110 (c) Rs.10
(9)  Average revenue and Total revenue are related
(a) Directly (b) Inversely  (c) In average
(10) factor cost is the cost of using an additioal unit of a factor
(a) Total (b) Average (¢) Marginal

(11)  The marginal productivity theory of distribution was first developed by..
(a) Marshall (b) JB.Clark  (c) J.B.Fitter
(12) Who developed the concept of ‘Monopolistic’ competition ?
(a) Mrs. John Robinson (b) Stigler  (¢) Chamberlain.
(13) Selling cost
(a) Adjust the product with demand
(b) Adjust the demand with product
(c) Creates supply of goods.

(14) Price discrimination becomes possible only if there is lack of in
the market.
(a) Perfect competition. (b) Monopoly (c) Oligopoly.
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Seat No. :

B.Com. Sem.-1
Dec. 2016
BCOMCI103 Human Resource Management.

Time : 3 Hours [Max. Marks : 70]
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Seat No. :
B.Com. Sem.-I
Dec. 2016
BCOMC103 Human Resource Management.
Time : 3 Hours [Max. Marks : 70]

Instructions : 1) Write answer to the point.

2) Write in your answer book the exact question No. mentioned in the question paper.
3) Figures to the right hand side of the questions indicate marks.

1 (A) Define the Human resource management and clarify its objectives. 7
(B)  What is Human Resource planning ? Discuss internal factors affecting
Human Resource Planning. 7
OR

(A) Explain the importance of Human Resource management.
(B)  Clarify the need for human resource planning in industrial organization.
2 What is Scientific recruitment ? Discuss the stages of employee selection procedure.14
OR
(A) What is training ? Clarify the need for training.
(B)  Explain the methods of training for workers.

3 (A) What is performance appraisal ? Clarify its importance. 7
(B)  What is promotion ? Explain seniority system of promotion. 7
OR

(A)  What is transfer ? Discuss reasons for transfer.
(B)  What is demotion ? Discuss reasons for demotion.

P (A)  What is Morale ? Explain the factors affecting it. 7
(B)  What is industrial relations ? Discuss nature of industrial relations ? 7
OR

(A) Explain meaning and scope of trade union.
(B)  Discuss meaning and forms of industrial disputes.
5 Answer the following questions in brief. 14
1) “Mind your men and men will mind other things”, How ?
2) What is work load analysis ?
3) What is employee stability Index ?
4) What is waiting list ?
5) Mention five suggestions for effective training.
6) What is executive development ?
7) Expense incurred after training is profitable investment, Why ?
8) Give features of Human Resource development.
9) What is non monetary reward for Human Resource development.
10)  What is “360” performance appraisal ?
11)  What is dry promotion.
12)  Why transfer is not panitive. punishment action ?
13)  What is collective barganing ?
14)  Clarify lock-out.
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Seat No. :

B.Com. Sem.-1
Dec. 2016
BCOMC 104 Commercial Communication

Time : 3 Hours [Max. Marks : 70]

Instructions : (i) Figures to the right indicate full marks. (ii) indicate clearly the options you attempt

1.

(a) What is communication ? Give definition of communication and explain it in detail. 7
OR
What are aims and objectives ? Fxplain aims and objectives in brief.
(b) Process of communication is a two way communication, explain

process of communication with Diagram. 7
OR
Write short note on ‘Persuasion’ and ‘Raising Moral’.
(a) Explain the layout of business letter, explaining regular parts. 7
OR
Write brief note on the principles of effective letter writing.
(b) Do as directed. 7

1. India got independence on 15/8/1947, write this date in cardinal number
with close punctuation.
2. Give an example of letter head with personal name.
3 Capitalize appropriate letters, arrange the details in logical order and write
the address in block form with close punctuations.
gadukpur, godhra, government polytechnic campus, the registrar,
panchmahals, shri govind guru university, pin — 389001.
4. If the first line of inside address is M/S Shah & Sons, what will be the salutation ?

3 Give an example of per pro signature.
6. Correct the following :

(1) dear sir, (2) your’s Faithfully.
7. Give an example of identification line.

Shyam Provision Store, Patelwada , Godhra wants to purchase furniture for their

shop. Write a letter to the manager , Royal Furniture Mart Sardar Estate Pratap

Nagar Baroda inquring about prices and other terms of sale. 14

OR

Patanjali Ayurved Limited ,Unit-1II , Patanjali Food & Herbal park, Laksar Road

Haridwar offers their products to one of their distributers with special discount and

terms of sale. Write this offer letter on the behalf of Patanjali Ayurved Limited keeping the

offer limited for certain period.

(a) Summarize the following paragraph in one third of its length and suggest a
suitable title. 7
Prevention is better than cure. Now a days the havoc of dengue, chikungunya and malaria
have covered the whole world. Millions of people die every day all over the world due to
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these diseases. There are different medicines available for these mosquito spread diseases.
It is recognised that the only way to get rid of malaria completely is to get rid of the
mosquitoes which cause it. Malaria is always associated with damp and marshy land.
This is not because the land is damp, but because the static water is the breeding place of
the mosquitoes which begin their life as a larva in the water. Malaria does not frequently
oceur in dry desert countries because mosquitoes can not breed there. The only way to
destroy mosquitoe is to prevent their breeding in static water. This can be done by draining
all ponds and pools. And by keeping them covered in the breeding season with a film of
kerosene oil which by depriving the larva of a kills them.

(b) Do as directed.
(1) Match the words in column A with their meaning in column B
A B

1. Birth a. lonely
2. Sole b. wise
3. Judicious c. To adjust.
4. Adapt d. being born

(i)  Fill in the blanks with proper word given in the bracket.
1. we are going to meet the .................. of the college for admission.

(principle/principal)

2. My friend is going ....................for further studies.(abroad/aboard)
3. Youngsters don’t like to wear............... cloths.(lose/loose)

5. Do as directed.
(i) Choose the correct option and re write the sentence.
1. Communication is .............s

a) one way process. b)multi way process. ) two way process.
2. oceveeennnIs the regular part of business letter.

a) attention line. b) signature. c) post script
3. The word ‘communication’ is derived from the Latin word.................

a) commen. b) communis. ¢) communion
4. The process of communication stars with.................

a) decoding. b) encoding. ¢) feedback.
5. . The meaning of ‘hoard’ is ................

a) a group. b) collection. ¢) rough.

(ii) State whether the following statements are true or false.
1. Decoding is not the part of process of communication.
2. Communication is a one way process.
3. carbon copy notation and mailing direction are occasional parts of business letter.
4. in cardinal number the date is written in British Method.
5. consciousness is not required in business letter.
(iii) Match the following column A and column B

A B
1. Sender a. Objectives of communication
2. Advice b. Encoder
3. Channel c. Principle of effective communication
4  Correctness d. medium of communication
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SeatNo.:

B.Com. Sem.-1
Dec. 2016
General English (English Today)

(i) Figures to the right indicate full marks.
(ii) indicate clearly the options you attempt

(A) Answer the following questions in brief (any four)

(B)

(A)

(B)

(A)

(B)

©)

Al - T o Lo

What did the Giant do when he saw children playing in his garden ?

Why was it eternal winter in the Giant’s garden and how did he account for it ?
What did the Giant do when he realized that he was selfish?

How did kali make his living?

Why did kali show his love for children?

Why did the girl say that the writer was a lucky man ?

What was the girl tired of ?

Write short note (any one)

1. The Giant at the end of the story.

2. Kali’s friends.

3. The moral of the story * The selfish Giant.’
Answer the following questions in brief (any four)
|

N Ve W

What kind of life did Roucolle lead ?

How did the Jew double-cross Roucolle and the pole?

How did the loss of his money affect the miser?

Who has occupied Netherfield ?

What did her father say about Kitty ?

Why did Hogan and Burns want to hide the suitcase ? where did they hide it finally?
What did the suitcase contain?

Write short note (any one)
2
3.
Name the parts of speech of each underlined word in the following sentence.
1.
2.
3.
4.
Identify the type of sentences given below.
L
2.
3.
4.
fill in the blanks with appropriate forms of verbs given in the brackets.

o T Sl ol o

Roucolle , the miser.
Mr. Bennet
Suspense in the story “ The Wrong House”

Ifyouare late , you will lose your seat.
He still lives in that house.

Diwali is a festival of lights.

1 wrote a letter to my friend.

I am reading a book .

Is your name Rakesh ?

Be regular in your work.

What a great man Gandhiji was !

NRere e e the minister. (go, goes)

Look, the catf ............. after the rat. ( run, is running)

The cow i hl08 the grass. ( have eaten , has eaten)

My father .. from Bombay a week ago. (come , came)

The birds .......... flying in the sky. ( was , were )

WE oo the station before the train came. ( had reached. have reached)
| 5 [ pass the exam. ( shall , will)

.......a nice day . ( Has, Have )
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4.  (A) Write a paragraph on (any one) of the following. 6
1. My Ambition.
2 Terrorism
3. Importance of trees.
(B) Read the following passage and answer the questions given below. 10

Doctors are the custodians of human health. To patients, they are like angels who give them
the message of hope and life. On the other hand , engineers are concerned with the in
animate things like machines which have no hopes and no fears. Doctors are , there fore ,
more human than engineers. Doctor has to work with the missionary zeal and his profession
calls for self-sacrifice. He can not ignore a patient suffering from pain. Even at the cost of
his own health, comfort and convenience, he treats the patients on wintry nights when all
the people sleep in their cozy beds, he stands by the side of a patient. On the other hand, an
engineer’s profession does not require so much self- sacrifice. Doctors have grater social
responsibility than engineers. They are directly responsible for the health of the people ,
while engineer’s responsibility is indirect, If there are no industries, no machines , no
equipment, no electricity and no means of communication, life will become very miserable.
But it will become still more miserable if there are no doctors to look after the human

_health. A doctors duties are harder in comparison to those of an engineer. An engineer has
to handle an iron. machine where as a doctor has to handle a human machine which is very
complex and complicated. It has been observed that the medical profession has produced a
greater number of public spirited men than the engineering profession.

Questions :

Why are doctors considered more human than engineers?
How is a doctor called upon to sacrifice?

Why is an engineer’s responsibility called indirect?

_;:.um—-

Compare _the duties of a doctor with those of an engineer.
3 Doctors are compared with............. ( Fill in the blank from the text of the passage)
5.  Re- write the following sentences by choosing the correct options. 14
1. The children used to go and play in the Giants garden in every...............
(a) Morning (b) afternoon (c) evening.
2 Kalilivesin ......cccooc....... (a) Royapuram (b) Rohana (¢) Kanthapuram
3 Kuppan was .................. (a) taxi driver (b) beggar (c) rickshaw puller
4 The author was travelling to .................. (a) Rohana (b) Saharanpur (c) Royapuram
5 Roucolle died at the age of ............ (a) seventy (b) seventy four (c) eighty
6. ' e had a plan to smuggling cocaine in to England. (a) Roucolle (b) Pole (c)Jew
7 Mr. Bingley is from.................. (a) England (b) America (c) France
8 ‘An excellent father’ is written by.......... (a) Jane Austen (b) George orwell (¢) R.K. Narayan.
9. The owner of the house was .............. (a) Simpson (b) Mr. Rogers (¢) Johnson.
10. Who has written * The selfish Giant * (a) O’henry (b) Ruskin Bond (c¢) Oscar wilde.
11. He kept the FAST for a week. ( Identify the parts of speech)
12. Please, give me your pen.( Identify the types of sentence)
13. | E— some birds there ( see, sees)

14. The children .............. playing games when we saw them. (was , were)
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Time : 3 Hours [Max. Marks : 70]
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I. (A) *“A salesperson must possess Bargaining & communication skill” Discuss. 6
OR
Discuss the various sales situations.

(B) *Asalesperson must possess problem solving skill, for any problems/ issues faced by

customers / prospects” Discuss. 4
OR
Discuss the selling & Buying styles.
(C) Mention clearly the concept of sales Management. 4
OR

Discuss the various components of Non- verbal communication.
2. (A) Discuss the planning oriented function of sales organisation.
OR
Discuss the importance of sales organisation in the Morden marketing age. Discuss its
administrative functions.
(B) Discuss the product & customer based sales organisation. 4
OR
Discuss the role of salesperson in context of sales organisation.
(C) Discuss the methods to decide the strength of sales employees in a sales Department. 4
OR
Discuss the factors affecting the design & size of sales organisation.
3. (A) Discuss the first four stages of salesperson’s selection process.
OR
Discuss the internal source of Recruitment to recruit employees.
(B) Discuss the external source of recruitment to recruit sales emp]'oyees. 4
OR

Explain the concept of Interview , discuss its types.
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(C) Explain the concept of recruitment, explain its present importance.
OR
Discuss the advantages to recruit employees from internal source of recruitment ?
(A) What is sales promotion ? Discuss its objectives.
' OR
Discuss the salesman oriented , sales promotion tools.
(B) Which are the sales promotion tools utilized, to promote / attract buyers to buy more ?
OR
Discuss the sales promotion strategies.
(C) Discuss the dealer oriented, sales promotion Tools.
OR
Discuss the importance of sales promotion in the marketing world.
State whether the following statements are True or False. 14
1. We see various selling style of buyers.
Innovative buyers are the first to buy the new products.
Buyers also are in the form of a Institution / company.
To be successful in the sales field, a salesperson must have inborn skills.
We do not see various types / forms of sales organisation.
Customer based sales organisation have proved to be a failure.
MNC companies manufacturing household products.

India’s 100% percent companies sell through direct marketing style.

bR L R R

To recruit the employees of sales organisation only internal source of recruitment is available.

,_.
e

The recruiting process of sales employees is challenging.

e,
—_—

We do not see different types of tests.

._.
N

The candidate passing the interview step in the process of selection need not pass / go through
other steps of selection process.
13. The sales promotion tools does not lead to increase in sales.

14.  Sales promotion tools are formed only for customers.
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[Max. Marks : 70

What is ‘Company’ ? discuss . Explain the characteristics of ‘Company’. 14
OR

(A) Distinguish between public company & private company. 07

(B) Explain the procedure to convert private Ltd. Company in to public Ltd. Company. 07

What is Company Secretary ? State the duties and functions before and after the incorporation

of the Company. 14
OR

(A) Explain the types of secretary. 07

(B) Describe the qualities and qualification of successesfull secretary. 07

(A) What is securities listing ? Discuss the provision of companies Act. For listing of

securities. 07

(B) What is forfeiture of share ? Discuss the procedure of forfeiture of share. 07
OR

(A) Discuss the merits of securities listing. 07

(B) What is share calls? Explain its procedure. 07

(A) Explain the meaning of office management and discuss its main functions. 07

(B) Give the meaning of correspondence. Explain the procedure of inward correspondence. 07
OR

(A) Writea note on Internet. 07

(B) State the classification of modem office equipment and explain any three. 07

Explain the following questions in brief. 14

L.

i TR - T

What is scriba?

State the circumstances to end the secretary’s position.
Give three illustrations of charted company.

Explain the meaning of illegal Associations.

State the effects of forfeiture of share.

Documents required for listing of securities - any four.
State the uses of fax.

Write a meaning of webpage and websitr.
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1. Answer the following (any ten) 25

1. List various generations of computer, discuss we are in which generation.

2. Draw a diagram for computer also mention various parts of the same.

3. List various characteristics of computer.

4. What do you mean by a bit ? What is its importance in memory storage ?

5. Differentiate : Primary memory v/s Secondary memory.

6.

(U8 ]

Discuss computer memory storage device parameters.which parameter
we are using at present ?

4 List various input and output devices for a computer, explain its importance for
computer user.

8. List various types of printers, explain which is more useful in office work

9. Write short note on : Auxiliary memory.

10.  Explain the use of Barcode in today’s world.

11. Write a short note on : Types of computer monitor.

12, Write a short note on: Touch Screen.

Answer the following (any three) 5

15
1. Explain role of Operating system for a PC.
2. Write a short note on : Application software.
3. List various component of Widows 7 OS.
4. How to transfer a folder from my document to pen drive write appropriate steps.
3, Write a short note on : System Software.
6. How to change date and time in windows 7 OS.
Answer the following (any five) 15
15 Explain binary number system with appropriate example.
2. Add the binary numbers 100111 and 11011.
3 Subtract the binary numbers 01110 from 10101.
4. Multiply the binary numbers 1010 and 1001.
5. Convert the decimal numbers to hexa decimal number : 501,1 121,1264,5636.
6. Convert the octal numbers to decimal number : 423,164,3553,201.
Answer the following (any five) 15

Explain various characteristics of MS Word.

List various toolbar and means in MS Word.

Discuss print options in MS Word.

Write step for find any word and replace in MS Word.
How to assign auto numbering, bullet in MS Word.
Give introduction to Gujarati fonts used in MS Word.

R
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: (A) Discuss the various forms of Non-verbal communication. 6
OR
Which are the sales situations, faced by a salesperson.
(B) Discuss the various sales strategies. 4
OR
Why should a sales person possess couthest management & Resolution skills?
©) Discuss the selling & Buying skills. B
OR

Why should a salesperson posses, Leistering skills?

2.  (A)  Explainthe planning oriented & Implementation oriented functions of a sales organization. 6
OR
Discuss the factors affecting the design & size of sales organization.
(B) Discuss the administrative functions of sales organization. 4
OR
Discuss the Hybrid(type) sales organization.
(©) Discuss the Issues / problems of sales organization. 4
OR

Write a note on : Customer based sales organization.

3.  (A)  Clearly mention the concept of recruitment & selection, discuss why should the selection
process of a sales person be done in a scientific manner. 6
OR
Discuss the internal source of recruitment to recruit, employees from sales force / department.
(B) “Before selecting a sales employee, it is necessary to conduct psychological test, assess the
candidates past Rewrd.” Discuss. 4
OR

Discuss the external source of Recruitment.
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(©)

(A)

(B)

Is it necessary to do planning for recruitment ?
OR

Discuss the different types of Interview.

Explain the meaning & objectives of sales promotion.

OR
Discuss the different strategies of sales promotion.

Discuss the salesman oriented sales promotion tools.

OR

Discuss the Dealer or oriented sales promotion tools.

(©) Discuss the advantages of sales promotion.
OR

Discuss the limitation of sales promotion.

Explain the following terms / concept in one sentence.

I Sales management. 2,
3. Sales person’s quality 4.
5. Buying through laggard style. 6.
7. Activity based sales organisation 8.
0 Incremental method 10.
11. Interview 12.
13. To provide free sample. 14.
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